




Question No. 9

Vhich of the following niirogen bases are purines?

~" Guanine - Cytosme
~' Adenme - Thymine
Adenine - Guanine

~ Cylosine  Adenmne




Question No. 34

Which is the largest among the followings?

O Carbon
~ Nucleotige

~ Phosphate




Question No. 1

—— - e — e ———— ——————————.

The nner membrane folded mto cnstae (large surface area for resprratory enzymes) 1s the component of

...............

O nbosomes
' chioroplast
U Gokge apparatus

Comtochamdng

Save & NEXt Jii) i



Question No. 2

—

\Which tissue forms the cuter, protective covering of a plant?

_' all answers are correct
® vascular tissue

cermai tissue

ground tissue




Question No. 17

e —— - —

Mam scurces of chemical energy in the cell are .

O rats

O carbohyarates

O protens

O AN answers are correct

SR ST
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Total questions in exam: 40 | Answered: 1

Question No. 10

|

. Autotrophic means organisms that ............. I ~

- O Produce light energy using food
O Do not produce their food
O Do not produce light
O Produce their own fooq



O Exocytosis
O Faciltated diffusion

O Ppassive transport
- O Active transport




_Total questions in exam: 40 | Answered: 0

Question No. 1

In alveoli

“ Blood takes Up carbon dioxide and drops off oxygen
© Blood mixes with hemoglobin
~ Blood mixes gases

! Blood takes Up oxygen and drops off carbon dioxige




| Quntlon No. 8

———— - — e

Which of These molecules 1orm _lnc COre ol a celrs mosomes?

O RNA
O mRNA
O DNA
O IRNA
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Cght energy changes nto chemcal encrqy in plands by

Respuaton
Liftuson
GNCONSIS

Photosynthess
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Question No. 4

- —-

. .

.............................. joins the leaf to a node.

O Petals
© Root
© Petiole
O Stem



" Question No. 2

—— - e s 6w —

g - — -

Photpsynthesis converts light energy into chemical energy stored in

.....................

© None of them
© ATP

© Sugar

O Fats




| .
| Question No, 4

,4

Oxidative phosphoryiation (8

OV roduced most AP molecules in the cell
L Slage during which oxygen s reduced to water
All answers are correct

3id stage of aerobic cellular respiration




Question No. 14

Genetic information flow 25

llllllllllllllll

¥ DNA— RNA — Protein
~ Protein — RNA —, DNA
" RNA—DNA Protein
’ DNA — Protein — RNA
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Question No. 10

'
......................

Autotrophic means organisms that

l

' O Produce light energy using food
O Do not produce their food

- © Do not produce light

O Produce thejr own food




estion No. 6

Skeletal e
=

= 0 = e
| 'ﬂage |

©"ugaments ..
< Tendons "

< Adipose tissue
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Question No. 5

— .

RNA is translated into protein by using. .

Monosaccharide language
O Fatty acid language

ammo acid Ianguage
nucleoude Ianguage




Question No. 9

Vhich of the following niirogen bases are purines?

~" Guanine - Cytosme
~' Adenme - Thymine
Adenine - Guanine

~ Cylosine  Adenmne
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—

Question No. 3

The type of sugar in DNA nucleotide is.. .

O Mattose
© Fructose

 Deoxyribose
U Ribose
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| Total questions in exam: 40 | Answered: 0
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Question No 38

—— i i—— i ———

- In DNA which of lne touowmg base pairing is TRUE?

“ Thymine (T) - Uracil (U)

) Adenine (A) - Guanine (G)

- Guanine (G) - Cylosine (C)

“ Cytosine (C) - Thymine (1) | :




| Totalquestions in exam: 40 | Answered: 0

|

" In alveoli

Question No. 1

© Blood takes up carbon dioxide and drops off oxygen
© Blood mixes with hemogiobin

~© Blood mixes gases

© Blood takes up oxygen ang drops off carbon dioxide
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Question No. 4

. joins the leaf to a node.

“ Pelals
“ Root
< Petiole
< Stem
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Question No. 1

-—

Vihich one of the folicwing organs coss not

' Pancreas

-

—

e e eee— et et

affect the digestion process®

Tongue
Savary giancs

Gall biacger




Question No. 8

Which of These molecules form the CO1EC O 8 Celts (ibosoimnes?

O IRNA
U mRNA
O DNA
Y tRNA
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Question No. 16

What is pollination?

~ The transfer of polien from anther to stigma
- The transfer of polien from sigma3 to anther

~ Nons ot th

(D

m

~ iRhe ranster of posen from SigmMa 1o ovary
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Question No. 7

Which of the following contains hydrolytic enZymes?

mrochondrion
~ Gaolg apparatus
“ Vacuole

Lysosome
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_Total questions in exam: 40 | Answered: 9
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Quostton No 7

————

Inthe digestive tract, the .. absorbs H20 to give semi-so

O Esophagus
O Large intestine
O Small intestine '

~ Stomach -




Question No. 7

Which of the following contains hydrolytic enzymes?

O mitochondrion
© Golgi apparatus
) Vacuole

O Lysosome




Totat questions in exam 40 | Answered 8

Question No. 22

The tissues are migher levels than

L Organism

- Organ systems
- Organs

CCells




I | [

........
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_Total questions in exam: 40 | Answered: 17

Question No. 16

What s pollination?

The transfer of polien from anther to sigma

~ The transfer of pelien from stigma to anther

~ The transter of posen from SUIMa 10 ovary




IS, gas exchange fs enhanced by,

® Flimination

O Emutsion
U Ventilation

O Contraclion




-

Question No. 19

- A 15-nucieotide sequence will diect the production of a polypeptde chawin with up to

| o o - . -

a

O 3 ammno acds
O 5 amno acks
) 7 amino ackis

O 2 amino ackds




Question No. 34

In DNA — Cytosine (C) pairs with .

' Adenine (A)

< Thymine (T)

- Guanine (G)
Jraci (U)
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Question No. 15
Whatsmcmostlnerypaomaytakenbyanewsynthesaedptotenmwoeseaeledbyacel?

' ER —-Golgi —-vesicies thal fuse with plasma membrane

' Gogt —-ER —«lysosome

' ER —lysosomes -vesicies that fuse with plasma membrane
' nuckeus —~ER —-Golgil
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Question No. 11




[Total questions in exam: 40 | Answered: 1 _

Question No. 9

e

How do germinating seeds get the food they need to grom

- —_——

| O From their food store
O From the soil
O From leaves

—

) By photosynthesis




Total questions in exam: 40 | Answered: 0

Quesuon No 20

_— -

——— W

| What is the role of messenger RNA?

© To take amino acids 1o the ribosome

© Yo bring the DNA message to the mitochondrion
“ To bring the DNA message to the nbosome

7 To bring the tRNA message to the nucleus

— —————




| Total questions in exam: 40 | Answered: 0

Question No. 13

—_— e e—— e e

— -

Connective tissues that stores energy as lipids are

© Bone

< Muscle

"~ Adipose

) Nervous i




| Question No. 7

—_— e —— —

Which of the following contains hydrolytic enzymes?

O mttochondrion
- © Golgi apparatus
' Vacuole
' Lysosome ' 1




‘an No. 4
ecnphagus?

/._/—._,—‘

e

—
- Which epithefial tisSU€ lines the

& Simple squamous
@ cardiac muscles

O stratmes Syuamo
@ gjmple columnar






Question No_ 4

Ihe heart iIs mostly made of muscie issue It has also lIssues

< A answers are correct
7 pitheial
. Connective

Nervous




Question No. S
A small organ located under the liver and help to digest fatty foods is called

—

© Gall bladder
- © Lungs

© Pancreas

© Stomach

ik s - - i e
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Question No. 20

Breathing and respiration are closely related because

Both take up O; and release CO;

Both build sugars
Both takes up sugars

Both take up CO; and release O,



Question No 29

The sugar ridose has

& one ess oxygen han geoxyrbose
¥ Two more oxygen than deoxyrbose
V' Two less onygen than dearyrdose
& one mote oxygen than dearyrtose

Save & Next AR, b
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' Question No. 21

e s A ———eel et el

{

. In flowers, Anther is carfied On ...................

O stigma

. O petals
O carples
C stamens
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Question No. 17

How many organ systems are in a plant?

KOOt sysiem
LUnnary system
Koot and shoot systems

Shoot system




Total questions in exam 40 | Answered 23

Question No. 14

Chromosomes consist of

DNA and ipds

DNA and protemn
RNA and sugar

RNA and amino acuds



Question No 29

The sugar rdose has

© one ks Oxygen Ian seoxyrbose
W Two MOE Oxygen than deoxyrbose
W Two ess oxygen than gearyrbose
- one mote oxygen Nan dearyrdose

Save & Next AD, b
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Question No 32

In fsh. gas exchange s enhanced Dy

) Contracton
O Fmulson
O ventdation

U immnaton

oy

(2
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Question No. 23

ood s

O A muscie tssue
O An epithelal tissue
O A nenvous tissue

U A connectve lissue

Save & Next JI5, e
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Question No. 16

The finclon o e stgmaisto ...

- provide nutiens lo the developing embryo

 conduct pollen to the ovary
- caplure pollen
" produce polien
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Question No. 286

Monomers of both ONA and RNA are called ................

AMino aclkds
Falty acids
tltonosaccharndes

Nucleotides

Scanned by CamScanner



- Question No. 9
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How do germinating seeds get me food they need to grow?

-

Y From their food slore
“ From the soi
C From leaves

“ By Photosynthesis



Question No. 22

Booa s

O A muscle Issue
O An epthelal tissue
O A nervous tissue
U A connective ssue

Save & Next 13, ke

-
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Question No 28

o The sugar rose has

O one kess cvpgen than georyrmose

C U Tan e vaygen M deonyrose
U Two was onygen than dean rbose
“oone mote QryQen AN decryrtase

le

Save & Next 2B, b
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- Question No. 36

- Transcripbon and translation of a gene composed of nuckeofides woukd form a prolein containing no more than 1

U 54
06

V45
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Total questions in exarm; 40 | Answered: 11

Question No. 28

A mixture of gastric fluid and food particles 1% called

' Chyme

' Feces

Saliva
Bile




| Total questions in exam: 40 | Answered: 11 3

' Question No. 3

T ——————————

— " ——— —— -—

- Which of the following membrane activities require energy from ATP?

© Movement of water into a cell
U Na+ lons moving out of the cell

O Movement of carbon dioxide outside cens
~ Movement of glucose molecules

save & Next i



In fish, gas exchange 1s enhanced by

® Eamination
Q Emulsion

O Venthation
O Contraction




_Total questions in exam: 40 | Answered: 11

Question No. 1

' Which one of the following organs does not affect the digestion process?

C Pancreas

O Tongue |

' Samvary glands

< Gal bladder ,




’ .', Question No. 33

~ Respiration rate

-' Energy resting rate
Metaboe rate

Kinetic €nergy







| Total questions in exam: 40 | Answered: 0

l'
; Question No. 8

Water passes quickly through cell membranes because

.......................

O 1t moves through aquaporins in the membrane
© Water move using ATP

“ The bilayer is hydrophilic

' Water is a small polar, charged ‘mo!ecule

Ve .cht wu’.aaku
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Question No 9

whemical dgestion of food 1s Calalyzed by

Enzymes
leeth
HCI

* Water



In fish, gas exchange 1s enhanced by

® Eamination

¢ Emuksion
U Ventiation
U Contraction
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' Question No_ 25

- prOCSSS

™ D"TUSiOn
\_) Osmosis

N

Neithg,



| Total questions in exam: 40 | Answered- 14

P —————————

' Question No. 7

e ——_ e —

Inthe digestive tract, the ... absorbs H20 to give semi-solid waste

O Esophagus
Y Large intestine . .
' Small intestine |
O Stomach - :

-




Total questions in exam: 40 | Answered: 12

Question No. 37

e — et s e e
e -

- Whatis pollination?

The transfer of polien from anther to stigma
None of them

N |
he transfer of pollen from stigma to ovary
Th
€ transfer of pollen from stigma to anther
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Question No. 10

The mapr function of enzymes i

Protective

None of them
Detenge

Catatysy




Question No. 3

The transport of substances through proteins pumps is considered as

Y Exocytosis

Y Faciitated diffusion
~ Passive transport
Y Active transport
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Question No. 1

—— e——. — -_e,———— e s a— _— —

DNArephcationts . . witheach . . .acting as a template for the synthesis of a complementary ........

O semi-conservative, parental strand, old strand
_' conservatve, daughter strand, new strand

-~ consefvalive, parental strand, new strand

' Semi-conservative, parental strand, new strand




Question No. 2

- —— e
-

What is the smallest unit of heredity?

) Gene

< amino acid
) RNA

O Cell




Total questions in exam: 40 | Answered: 1

Question No. 7

The salvary glands are found in

- Esophagus
< Sman intestine

- Oral cavity -
< Large Intestine

.......

- -

q““‘



.............. Cdneseean diC SEgments betweennodes

O Internodes
O Intracellular
O Intercellular

O roots
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Question No. 7

The salvary glands are found in

- Esophagus
< Sman intestine

- Oral cavity -
< Large Intestine

.......

- -

q““‘



Question No. 2

- —— e
-

What is the smallest unit of heredity?

) Gene

< amino acid
) RNA

O Cell




|
Question No. 3

The transport of substances through proteins pUmps IS considered as

- O Exocytosis
Y Faciltated diffusion
V' Passive transport
© Active transport




.............. Cdneseean diC SEgments betweennodes

O Internodes
O Intracellular
O Intercellular

O roots



Question No. 14

Genetic Information floy ay. .

~

~ DNA—RNA _, Protein

’f’ RNA - DNA_, Proteip
” DNA — Protein — RNA




1
Question No. 3

The transport of substances through proteins pUmps IS considered as

- O Exocytosis
O Faciltateg diffusion
V' Passive transport
O Active transport




Question NO. v

Which is the largest among the followings?

\\

" Nucleotide
Phosphate
Carbon
Nitrogenous base



| Total questions in exam: 40 | Answered: 0

Question No. 1

In alveoli

1
{

- O Blood takes up carbon dioxide and drops off oxygen
Y Blood mixes with hemoglobin
© Blood mixes gases

© Biood takes up Oxygen and drops off carbon dioxide

'*"-"'&ert‘,ll,x...




" Question No. 8

- Which of These molecules form the COLe of a cell s 1bnosomes?

O IRNA
O mRNA
O DNA
U IRNA







Total questions in exam: 40 | Answered: 0

' Question No. 3

- The type of sugar in DNA nucleotide is

O Matose

" © Fructose
' Deoxyribose
O Ribose

------



| Total questions in exam: 40 | Answered: 0

’ Ouesuon No. 2

—— e

—— O ———————y et

Photpsynthesis converts light energy into chemical energy stored in
|

© Nene of them
© atp

© Sugar

O Fats



Total questions In exam: 40 | Answered: 0

—

Question No. 22

The electron carrier that is involved in the glycolysisis ................... .

L

1 O FAD
' © None of them
- O NADP

O NAD




- O Fast, wave-ike
- O Fast, rotational
O Siow, rotational
O Slow, wave-like
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| tol questions i exam: 4% [ Avswered: &

| Questian No. 7

|
- Which OF INese re e 130050 Aftiysion 1 (e D 2eigh i Phaatg vt i atn/

© Complex sugars
Y Protens

“ Fatty acus

- © Water

~



Question No. 32

The body system which eliminates to1 o ton s

) Nervous
i} Skeletal
¢+ Circulatory

. Digestive

Scanned with CamScanne



Queston No. 20

A ONA ropicatian ach new DNA Wit contam
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Question No. 10

|

. Autotrophic means organisms that ............. I ~

- O Produce light energy using food
O Do not produce their food
O Do not produce light
O Produce their own fooq



Question No. 6

Which of these su_udures S NOT part of the agoest

e tracre

Esophaguye

T Somaey,
Lrvey

Sman "“Qslhe
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Question No.3

P?

Which of the fonowng membrane activtes require energy from AT

© Movement of water mnto a cel
Na+ ons Moving out of the cep

Movement of carbon doxdge outsxie cells
~ Movemen of guucose molecules
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Question No. 7

> - —— > - v -
| — e — -

A plant's flowers are closely related to which function?

' Support

~ Reproduction

E Protection

- Food produyction



Question No. 1

| i The function of the stigma is to

O Capture polien

' Provide nutrients to the developing €mbryo
“~ produce polien

~ Conduct polien to the Ovary




Question No. 7

> - —— > - v -
| — e — -

A plant's flowers are closely related to which function?

' Support

~ Reproduction

E Protection

- Food produyction
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Question No. 36

Transcription and transiation of a gene composed of nucleolides would form a prolem conlaming no more than 1

0 4
J 54

7 45
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Question No. 10

|

. Autotrophic means organisms that ............. I ~

- O Produce light energy using food
O Do not produce their food
O Do not produce light
O Produce their own fooq



Question No. 1

; e . -
' The function of the stigma is to

e ——————

O capture polien

O prowde nutrients to the develo

ping embryo
o produce pollen

C conduct pojien to the Ovary



‘an No. 4
ecnphagus?
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e
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- Which epithefial tisSU€ lines the

& Simple squamous
@ cardiac muscles

O stratmes Syuamo
@ gjmple columnar



estion No. 6

Skeletal e
=

= 0 = e
| 'ﬂage |

©"ugaments ..
< Tendons "

< Adipose tissue
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............

=" Amuscle tissue

' An epithelial tissye
A nervous tissye

- A connective tissue



| Total questions in exam: 40 | Answered: 10

' Question No. 30

i "

- Cellular respiration OCCUrS ...........cceeevvnennnnn.

- O in 5 main stages
O in 4 main stages

- .

' in 2 main stages
“ in 3 main stages
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Question No. 29

———

—*_\-~‘—EM~‘_§

& Exocytosis

2 Simple diffusion

- Facitateg diffusion
~ Osmosis -



- Question No. §

- - e - e e -

 Lmht energy changes into chémical enerqy In piants ¢ R

O Respiration

O Diftusion

O Ghcolysis

L' Photosynthests

Save & Next A3, s
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Question No. 28

I he MR 1O has
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Question No. 8

Which of These molecules 1orm the COLe ol a cells 1xosotes?

O IRNA
“ mRNA
U DNA

U IRNA
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Question No. 31
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Which of these muscles is involuntary?

O Only skeletal muscles
© cardiac and smooth muscles
' Only smooth muscles
) Only cardiac muscles
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Quastion No. 2




Question No. 5

Lght energy changes mto chemcal enerqgy in plants by

Respiraton
C Dittusion
O GIeolysts

“ Photosynthests
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= Amuscle tissue
An epithelial tissye
A nervous tissue

A connective tissye
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O Changes ensyme il

() None of them

O compaets with active wite
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~ Question No. 3

— - ® - - - . —— | ———— B S —

R —— are tissues which cause voluntary movement of the body.

© Cardiac muscle
' All answers are correct
“' Smooth muscle
' Skeletal muscle




! Question No. 4

------------------------------

O Petals
' Root
© Petiole
© Stem

joins the feaf to a node.



Question No. 4

l
Oxidative phosphorylation 18

0 Produced most ATE molecules in the cell
L Stage during which oxygen 15 reduced o waler
COAIanswers are correct
0 Gid stage of acroblc cellular resplration



' Question No. 2
Photpsynthesis converts light energy into chemical energy storedin ... m

O None of them
- © aAtp
O Sugar _
Q Fats ' r
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Question No. 1

W,

txChange gases throug
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- Question No. 20

—_—

- What is the role of messenger RNA?

| O
- © To bring the DNA message to the mitochondrion
Y To bring the DNA message to the ribosome

To take amino acids to the ribosome

U To bring the tRNA message to the nucleus

-——
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Question No. 15

What s the most kkely pathway taken by a newly synthesized prolein that will be secreted by a cell?

< ER —Golgi —vesicles that fuse with plasma membrane

“ Golgt ~ER —Ilysosome

< ER —lysosomes —vesicies that fuse with plasma membrane
< nucleus —-ER —Golgi

Save & Next A3, ke
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Question No. 15

What s the most kkely pathway taken by a newly synthesized prolein that will be secreted by a cell?

< ER —Golgi —vesicles that fuse with plasma membrane

“ Golgt ~ER —Ilysosome

< ER —lysosomes —vesicies that fuse with plasma membrane
< nucleus —-ER —Golgi

Save & Next A3, ke
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 Movement of water into a cef
= Na+ lons moving out of the cel

~ Movement of carbon dioxide outsnde ceB
~ Movement of glucose molecules









Total questions in exam: 40 | Answered: 0
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Question No. 20

What is the role of messenger RNA?

" To take amino acids to the ribosome
“ To bring the DNA message to the mitochondrion

~ To bring the DNA message to the ribosome
~' To bring the tRNA message to the nucleus
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In prokaryotic cell. which of these processes OCCur in the nucleys?
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Question No. 7

Which of the following contains hydrolytic enzymes?

O mitochondrion

© Golgi apparatus
“ Vacuole

) Lysosome
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Question No 4

1 e Dody s Diood

U drops off 0. and pecis up €O,
L drops oft CO; and phs wp O
© dropn off O and pects wp N

S drogn oft N and pets wp (O,

Save & Next LB, ke
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Question No. 6

5 made of blades and petiokes

U roots
~ leaves
nO'u"'CfS

~' stems




" Question No. 8

Which of These molecules form the core of a celts N0O501eS7

O RNA
O mRNA
O DNA
U IRNA







Question No. 37

R— located near the shoot tip and causes elongation of a young shc

- Leaves

~" Axillary bud

- Flowers
Terminal bud
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Question No. 9

—

How do germinating seeds get the food they need to grow?

—

- O From their food store
O From the soil
O From leaves

O By photosynthesis



|
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Question No. 3

In prokaryotic cell, which of these processes occur in the nucleus?

Repncatlorb
- Transcription
® None of them
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Total questions in exam: 40 | Answered: 9

Question No. 31

WhKCh organ system does the pharynx belongs to?

Oigestive ang Respiratory
Digestive only
Nervous ,

~ Respiratory on)y
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Queastion No. 7
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The salivary glands are found in

- Esophagus
< Small intestine
- Oral cavity -
< Large intestine
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Question No. 8

- Ghlorophyi

|

|

OProtects plamt trom excessive heal
2 Helps plants in celiularn respirantion
O HeIps plants in movemen

2 Help plants carry out photosymhess
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Total questions in exam: 40 | Answered: 1 i

Question No. 10

Autotrophic means organisnms that............. ..... :

- O Produce light energy using food
| O Do not produce their food

- © Do not produce light

- O Produce their gwn food



" Question No. 2
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Photpsynthesis converts light energy into chemical energy storedin ....................

O None of them
© ATP

O Sugar

Y Fats

Seve & Next il



" Question No. 2

— —————

What is the smallest unit of heredity?

U Gene

' Amino acig
“ RNA

Cell




 Question No. 3

The transport of substances through proteins pumps is considered as

......

9 Exocytosis

© Faciltated diffusion
¥ Passive transport
© Active transport




- Question No. 3

Wwhen the concentration of a so!qte is the same throughout a system, the system has reached ...... o

O Osmotic pressure

) Equilibrium

) Pinocytosis

' Maximum concentration



1
" Question No. 4

Qxidative phosphorylation 18

U Produced most ATP molecules in the cell
o Stage during which oxygen Is reduced o waler
A answers are correct

3rd stage of aerobic cellular respiration
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' Question No. 1
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In alveoli

© Blood takes up carbon dioxide and drops off oxygen
© Blood mixes with hemoglobin
© Blood mixes gases

' Blood takes up Oxygen and drops off carbon dioxide

Yave & Next amy, Lo
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Photpsynthesis converts light energy into chemical energy storedin ....................

O None of them
© ATP

O Sugar

Y Fats
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In alveoli

© Blood takes up carbon dioxide and drops off oxygen
© Blood mixes with hemoglobin
© Blood mixes gases

' Blood takes up Oxygen and drops off carbon dioxide

Yave & Next amy, Lo
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Question No. 10

RNA is translated into protein by using. .

© Monosaccharide language
© nucleotide language
' Fatty acid language
/' amino acid language




| Total questions in exam: 40 | Answered: 0

!

Question No. 9

The longest part of the digestive tract is the

...................

O Stomach
© Esophagus
© smallintestine

Y Large intestine ' ¢




Question No 4

To block the action of an enzyme , non-competmve inhibitors change the shape of the

) Hormone
) Active site
) Receptor
) Substrate

Save & Next L, k.
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Question No. 9

The longest part of the digestive tract is the

“ Stomach

~ Esophagus

-~ Small intestine
< Large intestine

...................
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Question No. 10

RNA is translated into protein by using. .

© Monosaccharide language
© nucleotide language
' Fatty acid language
/' amino acid language
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Question No. 5

The trachea is found in the system

© Digestive
© Nervous
' Circulatory

~' Respiratory




Question No 4

To block the action of an enzyme , non-competmve inhibitors change the shape of the

) Hormone
) Active site
) Receptor
) Substrate

Save & Next L, k.




TR QUESHOnS 1 exam: 40 | Answered: 0

Quastion Na. 9

WDLN of the ORWING 18 not ype of Vessol?



Question No. 6

Enzymes are polymersof ..

© Inorganic phosphate
< Amino acids

' Fatty acids

' Hexose sugar
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Question No. 7

Which of the following contains hydrolytic enzymes?

O mitochondrion

© Golgi apparatus
“ Vacuole

) Lysosome
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It moves through aquaporins in the membrane
© Water move using ATP

" The bilayer is hydrophilic

~ Water is a small, polar, charged molecule

.......................



' Total questions in exam: 40 | Answered: 0
- Question No. 3

 The type of sugar in DNA nucleotide is

---------

O Mattose

© Fructose

'~ Deoxyribose

' Ribose P
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Question No. 5
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Simply, transcription is copying ...............

 Proteins from DNA
" mRNA from proteins
O mRNA from DNA
- Proteins from mRNA

apsc
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Question No. 4

Charged ©ons are traveling through protein channels in the plasma membrane with the concentration gradient is considered as ...

~ Smpie arffuson

« Facisated cifusen
~ Alwve Transport

< EnCoCyioss

Save & Mext AD, i
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Question No. 4
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............ joins the leaf to a node.

O Petals
© Root
O Petiole
«/ Stem
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7 e structute of Urach (

=
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Adenine (A
, (;yilﬁm (C)

o cuanine (G)
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Question No. 1

Which structure s common in animal and plant cells?

“NSOsoOmes
CFAR answers are correct
el wal

Nuckus




" Question No. 8

Which of These molecules form the core of a celts N0O501eS7

O RNA
O mRNA
O DNA
U IRNA
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| | Total questions in exam 40 | Answered 1

] Question No., 2

Inan anmal cell. DNA may be found mn the .

0 Nwcheus and mitochoendi s
L7 Chloroplasts and nuckrolus

CLysosomes and nuchies
U Chiloroplast and mitochondra
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Question No. 10

Autotrophic means organisnms that............. ..... :

- O Produce light energy using food
| O Do not produce their food

- © Do not produce light

- O Produce their gwn food



" Question No. 2
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Photpsynthesis converts light energy into chemical energy storedin ....................

O None of them
© ATP

O Sugar

Y Fats

Seve & Next il
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Question No. 6

Which of these structures 1s NOT part of the digestive tract?

Esophagus
Stomach

Liver

sSmall intestine
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" Question No. 8

Which of These molecules form the core of a celts N0O501eS7

O RNA
O mRNA
O DNA
U IRNA




Total questions in exam: 40 | Answered: 1 i

Question No. 10

Autotrophic means organisnms that............. ..... :

- O Produce light energy using food
| O Do not produce their food

- © Do not produce light

- O Produce their gwn food



Question No. 3

The transport of substances through proteins pumps is considered as

0000000

| O Exocytosis
O Facilitateq diffusion
O Passive transport

O Active transpory
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O Protects PIANL RO GRCE5S
O Helps plants in celuar res
0 Helps plants in movemen
“Help plantg carry out pho
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Queastion No. 7
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The salivary glands are found in

- Esophagus
< Small intestine
- Oral cavity -
< Large intestine



TR QUESHOnS 1 exam: 40 | Answered: 0

Quastion Na. 9

WDLN of the ORWING 18 not ype of Vessol?



" Question No. 2

— —————

What is the smallest unit of heredity?

U Gene

' Amino acig
“ RNA

Cell




- Question No. 3

Wwhen the concentration of a so!qte is the same throughout a system, the system has reached ...... o

O Osmotic pressure

) Equilibrium

) Pinocytosis

' Maximum concentration



Question No. 4

Qxtdative phosphorylation 14

TN '

U0 pProduced most ATP molecules
L Stage during which oxygen 15 o
AN answers are correct

0 3rd stage of aerobice cellutar re
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Question No 4

To block the action of an enzyme , non-competmve inhibitors change the shape of the

) Hormone
) Active site
) Receptor
) Substrate

Save & Next L, k.




 Question No. 3

The transport of substances through proteins pumps is considered as

......

9 Exocytosis

© Faciltated diffusion
¥ Passive transport
© Active transport




Question No. 2

O None of them
© ATP

O sugar .

| O Fats | i

f

Photpsynthesis converts light energy into chemical energy storedin ..................



Question No. 1

In alveoli

| O Blood takes up carbon dioxide and drops off oxygen
& Blood mixes with hemoglobin

)

O

Blood mixes gases

|
|
[
I
!

O

' Blood takes up oxygen and drops off carbon dioxide
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Question No. 4

e ——— e

To block the action of an enzyme , non-competitive inhibitors change the shape of the ...

O Hormone
) Active site

' Receptor
O Substrate




 Question No. 3

The transport of substances through proteins pumps is considered as

......

9 Exocytosis

© Faciltated diffusion
¥ Passive transport
© Active transport
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Question No. 4
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To block the action of an enzyme , non-competitive inhibitors change the shape of the ...

O Hormone
) Active site

' Receptor
O Substrate




Question No. 36

Where the chvime is STESTS IRTREES

Slomach
PAGLILY

L et

VRO ey
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Receptor
< Substrate




bensallon
O Communication






QuestionNo.35

The alr sacs mskde lungs a‘:——“
R

' Alveoll
O Larynx
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Question No. 34

\\\\\\\\\\\\\\

~ The main organ of photosynthesis in plant is
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| Question No. 35

...............

' The source of glucose generated in photosynthesis is

O Oxygen

O Carbon dioxide . _. g -
C Pyruvate | v

O water - o
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Question No. 29

The astribution of odor throughout the pia

e ———————————

Ce 15 an example of
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Question No. 31

Which organ system does the pharynx belongs to?

e g

O Digestive ang Respiratory
- © Digestive only
O Nervous '

~ Respiratory only
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Question No. 32

Which enzyme is résponsible for adding nucleotides to new DNA chain ?

© DNA helicase

© DNA polymerase -
O RNA primase ‘
L DNA ligase
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- Question No. 40
| _‘
- Simply, translation is a cop
| S—

|
m’mm DNA
' © NA
O Profein from RNA
| © DNA from Mrna







Exercise N

Increases LDL levels
Decreases HDL levels

INCreases HDL levels

All dnswers are Correcy

L
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Question No. 8
In DNA. which ogc following base

¥ Adenine A
am¢ ("

pamnng 1s TRUE?

= Guanine (G)
=" Cytosine (C) - Thy‘

mine (1)
= Guanipe (G) - Cytosine (C) k
Thymine (T)

= Uracil (U)




Question No. 7

Water passes quickly through cell membranes because ..... "

Q r move usi&

) water 1s a small, polar, charged molecule:

©) The bilayer is hydrophilic

) It moves through aquaporins in the membrane
P
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Question No. 1
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txChange gases throug
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Question No. 6

5 made of blades and petiokes

U roots
~ leaves
nO'u"'CfS

~' stems
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Questuon No 7
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- In the digestive tract. the

................ absorbs H20 to give semi-so
© Esophagus

O Large intestine

O small intestine '

O Stomach -
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Question No. 8

Minimum energy a resting animal requires each day to live is called..... ...

" O Respiration rate

O Metabolic rate - : | |

O

Basal metabolic rate BMR
' Energy resting rate - -

(o
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Question No. 7

In the digestive tract the

‘ O Esophagus ' ,

O Large intestine , " ; ’ '
O Smallintestine .
2 Stomach - o

=



Question No. 7

Water passes quickly through cell membranes because ..... "

Q r move usi&

) water 1s a small, polar, charged molecule:

©) The bilayer is hydrophilic

) It moves through aquaporins in the membrane
P
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Question No 4

1 e Dody s Diood

U drops off 0. and pecis up €O,
L drops oft CO; and phs wp O
© dropn off O and pects wp N

S drogn oft N and pets wp (O,
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Question No. 6

5 made of blades and petiokes

U roots
~ leaves
nO'u"'CfS

~' stems
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Question No. 9

Which of the following nitrogen bases are purines?

© Guanine - Cytosine
' Adenine - Thymine
' Adenine - Guanine '

~' Cytosine - Adenme
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Question No. 31

—— —

Which organ system does the pha

ynx belongs to?
O Digestive and Resplratory
' Digestive only A
“' Nervous ‘

~ Respiratory only =
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Question No. 9

Which of the following nitrogen bases are purines?

© Guanine - Cytosine
' Adenine - Thymine
' Adenine - Guanine '

~' Cytosine - Adenme
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Question No. 8

Minimum energy a resting animal requires each day to live is called..... ...

" O Respiration rate

O Metabolic rate - : | |

O

Basal metabolic rate BMR
' Energy resting rate - -

(o
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Question No. 1




Exercise N

Increases LDL levels
Decreases HDL levels

INCreases HDL levels

All dnswers are Correcy

L
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Question No. 6

5 made of blades and petiokes

U roots
~ leaves
nO'u"'CfS

~' stems
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Question No. 7

In the digestive tract the

‘ O Esophagus ' ,

O Large intestine , " ; ’ '
O Smallintestine .
2 Stomach - o

=
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Question No. 8
In DNA. which ogc following base

¥ Adenine A
am¢ ("

pamnng 1s TRUE?

= Guanine (G)
=" Cytosine (C) - Thy‘

mine (1)
= Guanipe (G) - Cytosine (C) k
Thymine (T)

= Uracil (U)
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Question No. 31

—— —

Which organ system does the pha

ynx belongs to?
O Digestive and Resplratory
' Digestive only A
“' Nervous ‘

~ Respiratory only =
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Question No 4

1 e Dody s Diood

U drops off 0. and pecis up €O,
L drops oft CO; and phs wp O
© dropn off O and pects wp N

S drogn oft N and pets wp (O,

Save & Next LB, ke
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Question No. 9

—

How do germinating seeds get the food they need to grow?

—

- O From their food store
O From the soil
O From leaves

O By photosynthesis






